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(iii) GH FIT BT BT &1 JAF J97 1 G F &1 @& TGV A Fav-GhRawr 7 kg

General Instructions :

(i)  This question paper is divided into three Parts :

Part - A : Not for Profit Organizations & Partnership Accounts.

Part - B: Company Accounts & Analysis of Financial Statements.

Part - C : Computerized Accounting.

(i) Part — A is compulsory. Candidates have to attempt any one part from
Part - B and Part - C of their choice.

(iii) All questions are to be attempted. Each question carries 1 mark. Write the
correct answer in your answer-book.

T - A
PART - A
(TR Hed Ud wsEr @)
(Not for Profit Organizations & Partnership Accounts)
1. F-2F @l JERid & @ ¢ 1
(A) oTfeeRT o &H! (B) %% A9
(C) & @™ (D) Gt @
Income and Expenditure Account reveals :
(A) Surplus or Deficiency (B) Cash in Hand
(C) Net Profit (D) Capital Account
2. Ui @ FIOE @ @ 1
(A) R @ (B) dr&ide @rdl
(C) -9 @l (D) JE(qd Td AHAE @ !
Receipts and Payments Account is :
(A) Personal Account (B) Real Account
(C) Nominal Account (D) Real and Nominal Account Both
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3. WEEN iU ¥ & o HH | H9 fhaq efdd 8 =Ry ? 1
A) 2 B) 7
(C) 10 (D) 20
What should be the minimum number of persons to form partnership firm ?
(A) 2 B) 7
(€) 10 (D) 20
4. TEER TG B oo T el A B 1
(A)  SfeERer
(B) UNE T
(C) WEER & R
(D) @EE & =i+

Partnership deed is also called :
(A) Prospectus

(B) Article of Association

(C) Principles of Partnership
(D) Articles of Partnership

5. ¥ M STgUe : 1
(A) A0 STIUT — T ST

(B) YU STIUI — AR ST

(C) T ST — YT ST

(D) R ST - T ST
Gaining Ratio :

(A) New Ratio — Sacrificing Ratio
(B) Old Ratio — Sacrificing Ratio
(C) New Ratio — Old Ratio

(D) Old Ratio — New Ratio
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6. T U HEER & AU W : 1
(A) G HH H GEIGH & S @
(B) I EERERI & GHOE & S o
(C) YU WEERI T ®H &1 & §HIGT 81 Sl o
(D) 7 @ WEEN AR T & FH FH GO B @
On the admission of a new partner :
(A) Old firm is dissolved
(B) Old partnership is dissolved
(C) Both old partnership and firm are dissolved
(D) Neither partnership nor firm is dissolved
7. T g AN 21 F T A AW ded 31 A HB 1/4 Rw R EER SR T S
A R ® 3/4 W A T 1/4 W F I FIA 81 T S BT 1
A) 2:1:1
B) 23:13:12
C) 3:1:1
(D) 13:23:12

'A' and 'B' share profits in the ratio of 2 : 1. 'C' is admitted with 1/4 share in
profit. 'C' acquires 3/4 of his share from 'A" and 1/4 of his share from 'B'. The
new ratio will be :

A 2:1:1
(B) 23:13:12
) 3:1:1
(D) 13:23:12
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8. IR} 9 UEER Y BF @l g & Uiy ke H a1 B, O 39 NI A e w4

(A) T @ |
(B) ¥ WEER & O @ #
(C) e @I H

(D) PN TERR & $f @n §

When a new partner brings his share of goodwill in cash, the amount is
debited to :

(A) Goodwill A/c
(B) Capital A/c of new partner
(C) Cash A/c

(D) Capital A/c of old partners

9. [l HERER &l Tg B W Iqhl & U TR fhaes @1 § wise &l sl ? 1
() & EEE B O d
(B) ¥ wEE F o @ &
(C) I8 IUUEHN & @1d |
(D) &R & G @d
On the death of a partner, the amount due to him will be credited to :
(A) All partner's Capital Accounts
(B) Remaining Partners Capital Accounts
(C) His Executor's Account

(D) Governments' Revenue Account
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10. ‘@, ‘S qur G gPRR ¥ S 1/4 : 3/10 : 9/20 F UG F QW dfed ¥, W B

FIHIT FET X TN ST B 1
(A) 6:5 B) 5:6
(C) 4:3 (D) 4:10

'A', 'B' and 'C' are partners sharing profits in the ratio of 1/4 : 3/10 : 9/20.
The new ratio on the retirement of 'C' will be :

(A) 6:5 B) 5:6
(€C) 4:3 (D) 4:10
11. ¥ERK & = O & 99 & & 1
(A) Sfe (B) #iee A9
(C) ST Jrerar hisT AW (D)  Sfae 7 hisT a9
Balance of partner's current accounts are :
(A) Debit Balance (B) Credit Balance
(C) Debit or Credit Balance (D) Neither Debit nor Credit balances
12. B & U O X & @ 1
() T g B) i it
(C) @i (D) ™

For the firm interest on capital is :
(A) Capital payment (B) Capital Receipt

(C) Loss (D) Income

5608/(Set : B)/ Il



(7) 5608/(Set : B)
13. 01-01-2019 % TH HEHER F HH & 1,00,000 X & FO1 Ran ¥Ed & A9@ H

31-03-2019 H IgH F YT &N BT : 1
(A) g (B) % 1,500
(C) 3,000 (D) % 6,000

On 01-01-2019, a partner advanced a loan of ¥ 1,00,000 to the firm. In the
absence of agreement, interest on loan on 31-03-2019 will be :

(A) ¥ NIL B) 1,500
(C) 3,000 (D) %6,000

14. IR H3 GHER TA% WE B gUH AR uh [iREd W e & 8, @ e &
AR W .o Al 1 A Il STl 1
(A) 6 B) 6%
(C) 5% (D) 12
If a fixed amount is withdrawn by a partner on the first day of every month,
interest on the total amount is charged for ......... months.
(A) 6 (B) 6%
(C) 5% (D) 12

15. T O S AW e H 3 : 5 F dfed gL H T A GEER A 1 P, 2019 § F
BT I T STU 7 dfed W T8Ad gU ATH-81 fadee 7 aRad & RO, ‘T B A

TR ST 1T 1 e B8R ¢ 1
() T s (B) e st L

3 1
(© @ (D) @ -

'A' and 'B' were partners in a firm sharing profits or losses in the ratio of 3 : 5.
With effect from 1st April, 2019 they agreed to share profits or losses equally.
Due to change in profit sharing ratio, A's gain or sacrifice be :

(A) Gain > (B) Gain ~
8 8

(C) Sacriﬁce% (D) Sacriﬁceé
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16. TN TH ........... R B

(A) FFH (B) =g

(C) HIsE™ (D) od

Goodwill is a .......... asset

(A) Fictitious (B) Current

(C) Wasting (D) Intangible

{1 -9
PART - B
(® @ T i e & )
(Company Accounts & Analysis of Financial Statements)

17. SN FEA D oo, g &l

(A) e (B) w@r

(C) R (D) IF F § Fi5 T

Shareholders are the ........... of the company.

(A) Customers (B) Owners

(C) Creditors (D) None of these
18. TH FHH & HEEl B & Bl © -

() i (B) ST

() fex (D) wRadwsf

The liability of members in a company :

(A) Limited (B) Unlimited

(C) Stable (D) Fluctuating
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19. TF ol H7 § qeedl H SAfeebas §e 2l o 1
A) 7 (B) 200
(C) 20 (D) e dM &
Maximum number of members in a Private Company is :
A) 7 (B) 200
(C) 20 (D) No limit
20. T FUAE & QEIUGR e SR 7 8 1
(A) T H B) Tt &
(C) TisT &l (D) |H

Preference share of a Company represents :

(A) Loan (B) Capital

(C) Dividend (D) Assets
21. USigd Yol AT &1 AT Bl B 1

(A) @fer gl

(B) Frifter ol

(C) i el

(D) ST F & Fi3 T

Registered capital is the part of :

(A) Reserve Capital

(B) Issued Capital

(C) Subscribed Capital

(D) None of the above
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22. 3 & Wity # stfedy g Bl R

(A)
(€)

5%
Hig e T

(B)
(D)

Maximum limit of premium on shares is :

(A)
(C)

5%

No limit

23. RN & e ®

(A)

(C)

SR

AT T ST a1

Debentureholder receives :

(A)

(C)

Dividend

Both Dividend and Interest

24. S O &S R B S

(A)
(B)
(C)

(D)

T & & T/

74 fEiRd = ¥ ®
fT gd MeiRg & /W W
S | H B3 TE

Zero Coupon Bonds are issued :

(A)
(B)
(€)

(D)

5608/(Set :

At zero interest rate
Specified rate of interest
Without specified rate of interest

None of the above

B)/ I

(B)
(D)

(B)

(D)

(B)

(D)
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10%
100%

10%
100%

= |
CIRLs|

Interest

Bonus

B)



(11) 5608/(Set : B)

25. RO B TEEE T & w9 7 FEHT A W DE-91 G biee 6T S @ ? 1
(A) OO G
(B) % T @

(C) F9H &iiRd @rar

(D) kU9 I Gl

On issue of debentures as collateral security, which account is credited ?
(A) Debenture Account

(B) Bank Loan Account

(C) Debenture Holding Account

(D) Debenture Suspense Account

26. @I § WU B W& B I AW Bl SKOART (bl ST © 1
(A) FH e |
(B) g feeer §
(C) Uit de A
(D) RO & @A

Profit on cancellation of own debentures is transferred to :
(A) General Reserve

(B) Statement of Profit & Loss

(C) Capital Reserve

(D) Debenture Account
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27. =&Y MY MA@ & g sAe S © 1
(A) 3 9w
(B) ®feT AW
() 7 & sfae ok 7 afee
(D) a1 @ Sfee A hise
Balance of Sinking Fund Investment Account always shows :
(A) Debit Balance
(B) Credit Balance
(C) Neither Debit nor Credit Balance
(D) Either Debit or Credit Balance

28. FqF e @iy @ R 1
(A) g (B) TR
(C) =d (D) ™

Loss on issue of Debentures is :

(A) Asset (B) Liability
(C) Expenses (D) Income

29. 1= & @ frm Ooft @1 Rafy faamer # ‘sisr T i & ofria 6f R@mr s 8 7 1
(A) Rl o (B) e oo
(C) ot st (D) @i goit

Which of the following is not shown under the heading 'Share Capital' in a
Balance Sheet ?

(A) Subscribed Capital (B) Issued Capital

(C) Reserve Capital (D) Authorised Capital
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30. TF H @ fage # ‘ofwr TN ofide & or=riq daq oF # i 9w © 1
() T i (B) wffq sier Oofr
(C) Frif sfsr Gof (D) SRR sfer it

In the Balance Sheet of a company, under the heading 'Share Capital' at the
last is shown :

(A) Authorised Capital (B) Subscribed Share Capital
(C) Issued Share Capital (D) Reserve Share Capital
i -9
PART - C
(Fgeliga qaie)

(Computerized Accounting)

17. f=ifciea fafal & @ w 99 § 3o & 9 & [T g9 T2 {6 S |@ear © ¢ 1

(A) T AR ol S (B) 39 &I a&FI
(C) Esc Fsil &M (D) I & | 5 &l
Which of the following methods cannot be used to enter data in a cell ?
(A) Pressing an arrow key (B) Pressing the Tab key
(C) Pressing the Esc key (D) None of the above
18. Fslie N & Fr=fofead & @ HF-a1 Th gl #ed el § 7 1
(A) THgH AT B (B) il H HMPRT B
(C) L N 3 (D) ahsiic & AL
Which of the following is not a basic step in creating a worksheet ?
(A) Save workbook (B) Modify the worksheet
(C) Enter text and data (D) Copy the worksheet
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19. &l ¥ W T fewalEl # Fed g 1
A) we feg (B) ¥« feu
(C) a9 feu (D) M fey
Comments put in cells are called :
(A) Smart tip (B) Cell tip
(C) Web tip (D) Soft tip
20. TF G H QM H THH TOFT H T Tl © 1
(A) ATE G (B) &l g
(©) w T (D) ifed &
Multiple calculations can be made in a single formula using :
(A) Standard formula (B) Array formula
(C) Smart formula (D) Complex formula
21. BEWWH B T o 1
() e (B) FET FEL
) f= (D) IUUET Tl
Hyperlinks can be :
(A) Text (B) Drawing objects
(C) Pictures (D) All of the above
22. RAged 37 99 Hise E. F. Codd &RI SHRT 71 11 /3T 1
The relational database model was created by E. F. Codd. True/False

23. @G ¥, 7 Aedic § gulRd e oar ?, Rred dfemt ok #few 8 &1 g /etEd 1

In a database, data is stored in Spreadsheets which have rows & columns.

True/False
24. UF 39 § o7 &R fed & Tl /378 1
A database has data and relationships. True/False
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25. T% 299 &I ‘W@-qU’ FHal Il 8, Hifh 599 @a H [qaxer adr 8l T /3 1

A database is called "Self-describing" because it contains a description of itself.

True/False
26. FHET Yol fhg MR W faesfea Rl o € 7 1
(A) T STEEROT (B) @ uRrest
(©) @ (A) @R (B) (D) @ o T
Accounting packages are developed on the basis of :
(A) Accounting Concept (B) Accounting Conventions
(C) Both (A) and (B) (D) None of the above
27. JTHRRET Yol e JHR P HiFedaX & ? 1
(A) e g (B) TSI TFeadX
(C) gfeferdt digedar (D) 3t
What type of Software is an accounting package ?
(A) System Software (B) Application Software
(C) Utility Software (D) Basic
28. FYTUEA TG UMl & §TF & 1

(A) =T, RUE, @ 98, 4i9eawy, e
(B) WftedaR, BEaa, o, dfskar

(C) ST, IS, Tichdl, Igagd, HSYS

(D) W, SishaT, BRI, WX

The components of computerized accounting system are :

(A) Data, Report, Ledger, Software, Hardware
(B) Software, Hardware, People, Procedure
(C) Data, Coding, Procedure, Objective, Output

(D) People, Procedure, Hardware, Software
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29. M F T § TG ST & FHCT | 8

(A) TERET, TS IR el

(B) Yo, T, A, o ok =
(C) wwafE, sfd, o oIk =g

(D) of, 3ITaIE, o iR =™
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Grouping of Accounts means the classification of data from :

(A) Assets, Capital and Liabilities

(B) Assets, Capital, Liabilities, Revenue & Expenses

(C) Assets, Equity, Revenue & Expenses

(D) Capital, Liabilities, Revenues & Expenses

30. fqwd &1 gq :
(A) UEEE e
(C) 31 &%

Choose the odd one out :

(A) Password Security

(C) Data Bank
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(B) eI Sffee
(D) e dfce

(B) Data Audit
(D) Data Vault

B)



